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MBE=TH W L ADE 2,956 2.315 2577 4,892
BIE_TH |& & F & 1,944 1,857 2,120 3,977
(KEF—TH |AHa- AHm 2,267 1,803 1,843 3,646
KEF_TH |AHa- AR 2,458 2,074 1,893 3,067
KEF=T 8 |AHa AHmH 2171 1,772 1576 3,348
[ KEEABT— T B | K750 - NI 2,539 2,285 2,367 4,652
KHFE—T B |AGE W A 1,519 1,565 1,399 2,964
A&Fm_1 B | AR D 2,355 2,337 2,188 4,525
EHE—TH |5 &-F ® 2720 2,042 2 465 4507
= fr EEHT - A DGR - = 7 3,192 2,693 3,017 5710
FE—TE DA ADIR K 1,906 1,500 1,651 3,151
FE-TH BOA X O 2,322 1,816 1,932 3,748
FE=TH FEOA-ZX O 1,859 1,624 1,753 3,377
Bt E—TH [AHE-FT & 2,085 2124 2,159 4283
Wt EZTH [ADE-FT B 2,887 2,603 2692 5,295
REARATH [AHER-T & 1,828 1,894 1,949 3,843
EFER—1TH | A F & 1,487 1,269 1,538 2,807
BFR_JTH |E &8 F & 858 894 987 1,881
MTER=TH | & F X 1,615 1,466 1527 2,993
FEANT H B SA-ah F 2,525 2,350 2,312 4,662
BEEA_T1H |& 0= & 1,485 1,170 1,397 2,567
BEEANTH [ B2 & 972 913 1,023 1,036

ERX/ETH |ANE-F & 1,037 1,107 1,243 2,350
EAKIKHET HERG = & 1,458 1,212 1,421 2,633
A —TH [#fiit & @HEK 2926 2490 2476 4,966
FaH_TH [/ #-EHER 2912 2,262 2,245 4507




